Division par Puissances de Dix (])

Trouvez chaque quotient.

90+0,1= 17+ 0,001 =
57 +0,1= 61+ 0,01 =
30+ 0,001 = 33 +0,001 =
96 ~ 0,01 = 70 - 0,01 =
11 +0,001 = 37 = 0,001 =
14 - 0,001 = 24 +0,01 =
96 - 0,01 = 59 - 0,01 =
49 - 0,01 = 69 =~ 0,01 =
11+ 0,001 = 80 +0,01=
58 - 0,01 = 77 - 0,01 =
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Division par Puissances de Dix (J) Solutions

Trouvez chaque quotient.

90 - 0,1 =900 17+ 0,001 =17 000
57 +0,1 =570 61+ 0,01=6100
30+ 0,001 =30000 33+ 0,001 =33 000
96 +- 0,01 =9600 70+ 0,01 =7000
11+ 0,001 =11 000 37+ 0,001 =37000
14 - 0,001 =14 000 24 +0,01=2400
96 = 0,01 =9600 59 +-0,01=5900
49 - 0,01 =4900 69 =~ 0,01 =6900
11+0,001 =11 000 80+ 0,01=8000
58 +- 0,01 =5800 77 +0,01=7700
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